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1. The opportunity cost along an increasing-cost production possibility frontier must
be positive and increasing,

2. In the market for broccoli, the equilibrium quantity of broccoli will certainly
increase if the supply of broccali decreases and the demand for broccoli increases .

3. You expect your income to rise. For a normal good, this would result in an increase
in the quantity demanded and a fall in price.

4. Total revenue will decrease if price increases and demand is inelastic.

5. An increase in the wage rate will increase the quantity of labor supplied, according
to substitution effect., and will decrease the quantity of labor supplied, accotding to
the income effect,

6. The cost-minimizing combination of labor and capital occurs when the MRTS of

capital for labor equals the MRTS of labor for capital.

7. When average cost is greater than the marginal cost, average cost is rising.

8. In monopolistic competition, when profits are being maximized, the price exceeds

marginal cost.

9. When the marginal social cost of a good exceeds its marginal private cost, tao

many units will be produced by the market,

10. Ben is buying shirts and shoes such that the marginal utility of shirts is 12 and the

marginal utility of shoes is 3. Shirts and shoes are priced at $8 and $2 respectively.
It can be concluded that Ben is spending too much on shirts and not enough on
shoes. :
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1. Which one of the following pairs of pohcy actions would deﬁmtely not increase the
money supply? P :

A. Open market sales of securities, i increasing the dnscount rate.

B. Open market sales of securities, reducmg the discount rate.

C. Open market purchases of securmes incre.asmg the discount rate.

D. Open market purchases of securities, reducing the dtscount rate.
2. Each of the following will make the AD curve shift to the right except

A. a tax cut.

B. an open market sale of securities by the Fed.

C. a decrease in the required reserve ratio;

D. an increase in government spending.

3. A perfectly competitive firm sells its output for $40 per unit. Its curfent output is
1000 units. At that level, its margmal cost Is $50 and increasing, average variable
cost is $35, and average total,cogt.is $60, To maximize total short-run profits, the
ﬂrm should
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4. The, §upply qf gqm;mg er soﬂware packages mcrepses Asa result the demand for
personal computers rises. Theses two goods are . . The price of microchips,
used to produce, persopal compyters, will - .
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C. complemems increase,
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5. The table below shows the maxlmum L output af each goqd in each country, fo; -

example, maxmmm country B p;qductxon of milk js 3 units.

. CountryA Country B
cum Mnkn..u T .au\' \..,u.,. LENRFRY I LR 3 el p ATE AT L MEELEETMELE A 6 R ERERR ST VT L
Bananas ' 5 2 0 B
According'to’the table above, il 1ty A I R

A. Country B has a comparative advantage in producing both goods.”  <¥ -

B. Coukifiy Bilias Mébmparative advantage'in the production of bananas, ‘and *
oty A'has 8 bomparative advantage ih the produétion'of milkd - <t ienn e

C. Country:B has Wéompatative advantage in the:praduction’of milk, and country A
has a comparative advantage in the production of bananas, S

D. Country A has a comparative advnmaee in proc.l.ucing both _gopd_s.
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1. Which industry is the most likely industry to have substantial barriers to entry?

2. A natural monopoly is usually regulated to produce an output level such that_____,

3. A group of firms that get together to set price and output jointly is called

4, Forfirms'in ____ | output is homogeneous.

5. In the short run, a perfectly competitive firm incurring losses should still produce if .
it can cover its

B, P=ATC. Z.. cartel. . monopolistically competitive
T. MR=MC, JX. perfect competition 3. a price-leadership industry
[BR.variable cost IE P=MC. FA. monopoly  BH.fixed cost
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1. The total product from 3 workers is 32 units and that from 4 is 40 units. Output is
selling at $2. What is the maximum the firm would be willing to pay for the ]
fourth worker?

2. A10% fall in the price of shampoo results in a 5% increase in the quantity of
shampoo demanded, What is the price elasticity of demand?

3. GDP is 1,200, consumption is 900, gross private domestic investment is 150,
exports are 50, and imports are 125, depreciation is 40, Please calculate the
government spending.

4. In country A, nominal GDP is $12,000 billion and the GDP price index is 80, What
is the real GDP?

5. Country A has a population of 1,000,000 citizens. The labor-force participation rate
is 80%. The number of people with jobs is 728,000, What is the unemployment
rate?

6. If the CPI is 135 in Year 2 and 120 in Year 1, what is the percentage change in the
price level between the years?

7. MPC=0.9, Planned investment=100 and equilibrium income level is 1000. If
income were at 800, what would be the level of saving?

8. In country A, the income tax rate is 20% and the MPC is 0.75. What is the
government spending multiplier?

9. A commercial bank has deposit of $100,000 and total reserves amounting to
$31,000. The reserve ratio is 15%. All other banks are loaned up. What is the
largest loan that this bank can make? '

10. According to the above information, what is the value of the money multiplier?
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